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Production Management : Paper - II

Time : 3 Hours]

Instructions :
(1)

[Total Mar

- M  imhci P tS U -tk tu ft  Cq.=lrlL (3 r l< q > {l <hm41.
Filiup strictly the details of signs on your answer book.

Name of the Examination :

S. Y. B.B.A. (Sem. 4) (CBCS)
Name of the Subject:

Production Management : Paper - 2

-Subject Code N o.: -Section No. (1,2,..

(2) Figures to the right indicate full
(3) All questions are compulsory.

ocated to that question.

Answer following questions
(a) Explain following

- FCFS
- LPT
- SPT
- EDD

(b) Explain any one indirect time study technique.
(c) What shall be Value of Critical Ratio if Slack is zero 

lar job ? What is interpretation of Slack
being negative as far as timely completion of job is 

?
e term “Quality” from the angle of customer, 

a customer, what four quality features do you expect 
while dining in a good restaurant ?

day is 22nd February, 2013. We are doing operations 
scheduling for following four jobs. We are doing 
scheduling at 7.00 pm in evening. On the delivery dates, 
which are mentioned in the following table, various jobs
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should leave factory latest at 8.30 AM in the morning. 
For following data, find out sequence of four jobs using 
Least Slack Rule.

Job 1 Job 2 Job 3 Job 4
Delivery Date 5.3.13 22.3.13 24.3.13 9.3.13
Work Content in days 14 25 30 17

© Today is 4th October, 2013. Requirement generated Dy 
MRP for RM4 is 16000 pieces in November 2^13. 
Today’s stock of RM4 is 6000 pieces. In the remaini: 
days of October 2013, company will use 12000 units of 
RM4. At present, an order of 12000 units of RM4 is 
pending with supplier. Out of this pending order quantity, 
9,000 pieces will be received in the third week of October 
and balance quantity shall be received in the first week 
of November. At the end of Nove 
wants to keep 5000 pieces of 
Find out closing inventory of R'
What additional quantity of 
November 2013 ?

company 
ing inventory. 

1 October, 2013. 
uld be ordered in

Answer any four of the following
(i) Explain “Consume]/^ Risk’’ and “Producer’s Risk” in 

relation to Quality Control.
(ii) Differentiate between) terms : “Quality Control” and 

“Quality K^sujance!!,
(hi) Explain Taguchi’s approach for quality assurance.
(iv) Explain Zero Defect approach.
(v) Explain the concept of Quality Circles.
(vi) Explain terms : “Quality of Design” & “Quality of 

Conformance”.

marriage bureau has a bio-data of six boys and six 
iris. Using a computer package, they can judge relative 
appiness on the scale of -100 to +100 for each pair of 

a boy and a girl. These results are shown in a following 
table. Find out the best combination of boys and girls 
so that total happiness of entire group is maximized.
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Girl 1 Girl 2 Girl 3 Girl 4 Girl 5 Girl 6
Boy 1 50 0 -60 80 70 -40
Boy 2 -50 20 -30 0 60 -70
Boy 3 30 -40 40 30 -50 20
Boy 4 30 40 90 70 -20 30
Boy 5 0 -10 -30 20 -10 20
Boy 6 40 30 20 -10 0 40

After some time, a seventh boy’s bio-data is receive 
This boy 7 can have equal degree of happiness of 70

(a)

if he gets married to any girl. What s 
combination of boys and girls ? Which bo 
unmarried ?

OR
There are six jobs which are to be pn 
order of M l -> M2 —> M3 -> M4. F 
processing timings. Find out th 
these six jobs are to be process'

ew

minimum completion ti: com

in the 
re various 

er in which 
shall be total 

all six jobs ?

Job 1 Job 2 J ob ^ ^ Job 4 Job 5 Job 6
Machine 1 14 10 •jo \ \io 14 8
Machine 2 6 0 i { 4 ))

J

6 4 6
Machine 3 0 6 6 4 4 6
Machine 4 6 8 4 8 6 4

(Time in minutes)

(b) Answer any one
(i) Explain tlif term Bill of Material. Discuss single 

and multi level bills of material. Why Bill of 
Material is called heart of Material Requirement 
Planning ?

u) Write a short note on “Aggregate Planning and 
aster Scheduling”.

the following table, Time Study observations for 
cycles are given. Time is measured using cumulative 

time measurement technique.
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Performance 
Rating (% )

Time Readings in Minutes 
Cvelc 1 Cvcle 2 Cycle 3 Cycle 4

Worker brings tray 
o f 80 pieces from store 

Checks one piece 
Loads one piece in m/c

Starts m/c
Machine runs automatically 

Unloads finished piece

Drinks water
Packs 2 pieces iit a box
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